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matlab 00O
n=length(prob);
probl=eye(n)-prob’;
prob2=[prob1(2:n,:);ones(1,n)]
pai=zeros(n,1);

pai(n)=1;

sd = inv(prob2)*pai
pempl=sd(1)

gogd



[v1,d1]=eig(prob’);
[dmax,imax]=max(diag(dl));
probst1=v1(:,imax);
ss=sum(probst1);

probstl=probst1/ss;
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n=length(prob);
value=1/n;
x=value*ones(1,n);
fori=1:100 % 100000000000000000000O00OO0O0O
goboboodoloooboobooobooboobuooboooo
x=x*prob;

end
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Yt = PYt—1 + €t
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function [prob,eps,z]=tauchen(N,mu,ro,sig);

% Discretizes an AR(1) process into a Markov chain. Determines the
optimal grid

% and transition matrix. Based on Tauchen (1991).

%

% y(t)= mu(1l-ro) 4+ ro*y(t-1) + u(t) with V(u) = sig"2

%

% syntax:

%

% [prob,eps,z|=tauchen(N,mu,ro,sig)

%

% N is the number of points on the grid.

% prob is the transition matrix

% eps contains the cut-off points from - infty to + infty

% z are the grid points, i.e. the conditional mean within [eps(i),eps(i+1)].

global mu_ ro_ sigEps_ sig_ eps_ jindx_

I Tauchen and Hussey Ooo0oo0ogdao Floden O web Oooao
(http://www2.hhs.se/personal/floden/Code.htm) 0000000000



if N==1;prob=1; eps=mu;z=mu;
else;
if ro==0;
sigEps=sig;
eps=sigEps*norminv((0:N)/N)+mu;
eps(1)=-20*sigEps+mu;
eps(N+1)=20*sigEps+mu;
aux=(eps-mu) /sigEps;
auxl=aux(1l:end-1);
aux2=aux(2:end);
7z=N*sigEps*(normpdf(aux1)-normpdf(aux2))+mu;
prob=ones(N,N)/N;
else;
sigEps=sig/sqrt(1-ro"2);
eps=sigEps*norminv((0:N)/N)+mu;
eps(1)=-20*sigEps+mu;
eps(N+1)=20*sigEps+mu;
aux=(eps-mu)/sigEps;
auxl=aux(1l:end-1);
z=N*sigEps*(normpdf(aux1)-normpdf(aux2))+mu;
mu_=mu;ro_=ro;sigkps_=sigEps;eps_=eps;sig_=sig;
prob=zeros(N,N);
for i=1:N
for jindx_=1:N
prob(i,jindx_)=quadl(Qinteg3,eps_(i),eps_(i+1),1e-6)*N;
end

end

eps=eps’;

end
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